JU—SWEE DA —2)—X

(C)2013 Prisola International Inc. 1



BRI/ HZEOEILAER
@D{ 0.2x+0.3y=0.1 @
0.05x-0.02y=0.31 @

(C)2013 Prisola International Inc.



BRI OCEILAEN
0.2x+0.3y=0.1 @
1)
0.05x-0.02y=0.31 @

BEEEHIZTSH = x10, X100 dx+6y= 2
+)15x-6y=93

Hx10 @ %100

2x+3y=1 @

5x-2y=31 @ X 1) 2R A
Q) x2+@ x3 10+3y=1 y=-3
19x=95 x=5 (x,y)=(5, -3)

19x =95

(C)2013 Prisola International Inc.



BB HEESTEIL AR

f

1 1
g | 3¥TYL @

(C)2013 Prisola International Inc.



BN BESTEILAER
(1 1

g | 3¥TYL @
| Sx+4y=1 @

BREZEHRCITD = w/IDRBHZENTL,
Dx6

2x+3y=6 @
S5x+4y=1 @ y=4 72V I=RA
@’ x5_®x2 2x+12=6 x=-3

7y=28 y=4 (x,p)=(-3, 4)

(C)2013 Prisola International Inc. 5



- N RDEILFIEXETEESITI0N,
(
(0.2x-0.3y=1.3 L hmyp=5
(1) | 4 2
L0.1x=—0.3y—0.7 (5) {
,- 1 1
(2) ) 0.5x+1.2y=7 —x-—y=-10
| 0.3x-1.5p=-6.9 6 2
(3) 5x+3y=1 ' 2;,.:+5y=
0.25¢-0.13y=-0.51 |~
12 1 (6) XV
(4) { 27 3773 T3

| 5x+2p=12

(C)2013 Prisola International Inc.



‘ {o.zx—o.3y=1.3 @

(1) 0.1x=-0.3y-0.7 @

(C)2013 Prisola International Inc. 7



‘ {0.2x—0.3y=1.3 @

(1) 0.1x=-0.3y-0.7 @

Mx10,.@x%x10

2x-3y=13 @

x==-3y-7 =>x+3y=-7 2" x=2%2 IZRKA
D +Q 2+3y=-7 y=-3
3x=6 x=2 (x,y)=(2, -3)

(C)2013 Prisola International Inc. 8



‘ {0.5x+1.2y='7 ®

(2) 0.3x-1.5y=-6.9 @

(C)2013 Prisola International Inc. 9



‘ {0.5x+1.2y=7 ®

(2) 0.3x-1.5y=-6.9 @

MHx10.@2x10

5x+12y=70 @’ =571 IZTHKA
3x-15y=-69 2 5x+60=70 x=2
Q) x3—@2)’ x5 (x,y)=(2, 5)

111y=555 p=5

(C)2013 Prisola International Inc. 10



‘ { 5x+3y=1 @

(3) 0.25x-0.13y=-0.51®

(C)2013 Prisola International Inc. 11



‘ { 5x+3y=1 @

(3) 0.25x-0.13y=-0.51®

@2x100 Dx5

25x-13y=-51 @ y=2ZDITKA
25x+15y= 5 @ 5x+6=1 x=-1
@ -

-28y=-56 =2 Coyd=i=d,2)

(C)2013 Prisola International Inc. 12



‘ 1 2 1

@y { 2¥ 33 0

| Bx+2p=12  ©

(C)2013 Prisola International Inc. 13



‘ s 1 2 1

(0 {25733 @
| 5x+2y=12 @
Dx6 @x2
3x-4y=2 @ x=2 71D [T A
10x+4y=24 (2’ 6-4y=2
®, +®, —4y=—4 y:l

13x=26 x=2 (x,y)=(2, 1)

(C)2013 Prisola International Inc. 14



(5) |

(C)2013 Prisola International Inc.

15



y=16 =1 12K A
x+32=20 x=-12
(x,y)=(-12, 16)

(C)2013 Prisola International Inc



(6) |

(C)2013 Prisola International Inc.



‘ [ 2x+5y

=2 O
4
(6) {
_y_1=_2 @
\
MDx4 %6 Ty=14 y=2
2x+5p=8 @ y=27z0 [T A
2 (x-p) -6=-12 2x+10=8
= 2x-2y=-6 2 2x=-2 x=-1
- (x,y)=(-1, 2)

(2x+5y) - (2x-2y ) =8-(-6)

(C)2013 Prisola International Inc. 18



MARENEHESESLN,

xX+y ..
2x = 2 = -0.1x+0.7 (x+y) =2
(1) “) 10.6(x-y)-1.3y=-3.2
x+4  y+1 (V.o LIy =T3.
. 3 2 (5) - 0.03(4x+9y)=-0.15
, 10.27x-0.12y=0.39
X y i

(2){ 4 3 2
. 0.4x+0.3y=0.2

R

2(1+3
ty7

—

(3)

(C)2013 Prisola International Inc. 19





